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HARTT R e 4 T AL AI3HET
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F7=D75kMt
(4. HlE4) (T%36) (FFI48)
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0 A AR 0
z B # 86,244
iR 8 Y T 86,244
fEaGE 0
m fF & 0
LI R = ¢ 0
BRI 2 0
I 584,496
x B #% 0
= m A 0
wom % 0
e #y 0
Z DD ZLfE off:
ZDRDYLA
& =] i 0 & =] 7 670,740
Al ] 7t 4,600,000 i0) [=] # 3,404,202
% 7t 4,600,000 EN i 4,074,942
HAH &4
E I OIER 120,160/
KHOIHAT AT L%
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i 631,060
WEEZHEAR SHIICAESH 16 A F2lalw s o




A K4 FEER EH T IE Stk [ R BFITESA 14 DS
il 305y
HIM AT K4 s —T SRICESH23A E T
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
KEHH 0
w5 0
LI ¢ 0
ST T/ ¢ 118,800
¢ 0
XORO#® 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 118,800
Al 5] it 4,600,000 Al =] At 4,074,942
o & 4,600,000 % § 4,193,742
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERE 510,900
B 631,060
WG ESHEA B SRS H 28 H F3lalh s 4y




A K4 M EA BEERIR HHERER ERL304EL1H 30 H v
il B1E 5
HIM AT K4 HE HEF PRBIE4AA 19 £ T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
FHRERFRBMESS BT 1,000,000 A B & 540,000
T FH R A8 DR 90,000 %z B # 908,401
Yr)FngE DALE 90,000 e B TSR 908,401
HH PR JHETTER 90,000 EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 681,760
¢ 0
X B & 0
T kR # 0
wom & 0
HE # 0
DO DOZR off 0
ZOMDYN 1,000,000
4 =] it 2,270,000 = =] i 2,130,161
] [=] 7t 0 i =] it 0
o & 2,270,000 % § 2,130,161
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 561,600
B 681,760
MEEFZHEAH R34 A 22 A H 1Bl




A K4 M EA BEERIR HHERER k3144 A 20 B
il F2la]
HIM AT K4 HE HEF ST H 4B ET
PN HY
FT=DFME
(GEN () (FFpH%R)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 73,990
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 26,241
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 100,231
Al 5] it 2,270,000 Al =] At 2,130,161
o & 2,270,000 % § 2,230,392
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 561,600
B 681,760
MEEFZHEAH SRITHESH 14 A FE2ElHE




A K4 fiAE fEsk F g SR R BoRT ERE3I4ELA 4B
HATH B1E 5
HIM AT K4 FERL =R PRR314E4A 22 £ T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
AT L PR 1,500,000 A B & 447,945
z = & 391,840
e B TSR 391,840
EH25H 0
w5 152,927
LI ¢ 0
ST T/ ¢ 1,370,955
¢ 371,674
X B O#% 62,557
T kR # 208,886
wom & 0
HE 2 163,609
Z OO FFE off: 0
ZOMDYN 2,000,000
= ] it 3,500,000 = =] i 3,170,393
] [=] 7t 0 i =] it 0
o & 3,500,000 % § 3,170,393
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERE 502,200
B 622,360
MEEFZHEAH R34 A 22 A H 1Bl




A K4 KE IEfE F g 3 IR NN ERE314EL 4 H 2D
B1E 5
HIM AT K4 PNE RN PRBIE4AA 15H £ T
PN
FT=DFME
(GEN (M%) (FFpH%R)
M M
IR B S B S 1,582,903 A # 0
z = & 1,255,728
e B TSR 1,255,728
EH25H 0
w5 0
LI ¢ 120,281
Flooml 901,088
¢ 161,534
X R % 17,602
T kR # 394,364
wom & 0
# 26,278
DO DOZR off 0
ZDOMDULA 763,000
= | # 2,345,903 2,876,875
Al ] Bl 0 0
o & 2,345,903 2,876,875
&
v 7 OMERK 120,000/
KO HAE AR S
RAZ—DIERK, 680,000
800,000/
WA EZHEA A FR314E4H 22 B F1RIHRE 5




A K4 KIE IEfE F g 3 IR NN SFITCEESHTADS
wom
HIM AT K4 PNE RN SRITTESATHET
PN
FT=DFME
(GEN () (FFB4E)
M M
IR B S B S 32,363 A # 0
z = & 0
e B TSR 0
EH25H 0
w5 18,867
LI ¢ 0
ET I ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
2 13,496
Z OO FFE of:
ZDOMDULA
4 B 7t 32,363 32,363
] =] At 2,345,903 2,876,875
o & 2,378,266 2,909,238
&
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERK, 680,000
800,000/
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A K4 KIE IEfE F g 3 IR NN BFITTES A 22 A0S
#3ml 4y
HIM AT K4 PNE RN SRICESH23A E T
PN
FT=DFME
(GEN () (FFB4E)
M M
IR B S B S 17,982 A # 0
z = & 0
e B TSR 0
EH25H 0
w5 17,982
LI ¢ 0
Flooml 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
2 0
Z OO FFE off:
Z DDA
4 B 7t 17,982 17,982
Al =] At 2,378,266 2,909,238
o & 2,396,248 2,927,220
&
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERK, 680,000
800,000/
WG ESHEA B SRITHE5H2TH F3lalh s 4y




A K4 FRH FlkE BEERIR HHERER ERL304EL1H 30 H v
HIrH F1E Sy
HIM AT K4 WO V31421 HET
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
FHRERFRBMESS BT 1,000,000 A B & 511,300
z = & 20,000
e B TSR 0
EH25H 20,000
w5 149,160
LI ¢ 0
ST T/ ¢ 1,275,580
¢ 51,435
X R % 4,627
T kR # 77,699
wom & 0
e # 32,410
Z DO FT off:
ZDOMDULA
= ] it 1,000,000 = =] i 2,122,211
] [=] 7t 0 i =] it 0
o it 1,000,000 % i 2,122,211
HH &
EIOVERL 120,160/
KO HAE AR S
RAZ—DIERL 1,155,420
B 1,275,580
MEEFZHEAH R34 A 22 A H 1Bl
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HIE AT K4 W w® SFEAESH23HET
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(4. HlE4) (M 2£) (FFI48)
M M
0 A AR 0
% B # 0
B G T 0
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A K4 ffiA B T IE Stk MERER ERE3IE2 A 1 H G
HATH B1E 5
HIM AT K4 iR L& FRE314E4AA 1I8H £ T
A HY
FT=DFME
(GEN () (FFpH%R)
M M
SRR R B REA B 790,352 A B & 222,000
z = & 402,536
e B TSR 402,536
EH25H 0
w5 15,562
LI ¢ 0
ST T/ ¢ 555,800
¢ 384,852
X R % 5,940
T kR # 124,935
wom & 0
HE # 15,103
DO DOZR off 0
ZOMDYN 2,000,000
= ] it 2,790,352 = =] i 1,726,728
] [=] 7t 0 i =] it 0
o & 2,790,352 % § 1,726,728
HH &
BT DIERL 0
KO HAE AR S
RAZ—DIERL 555,800
B 555,800
WEEZAFAH TAR314E4 T 19 H AR Sy




A K4 JNRHRAR F g SR A AP ERES0AETA 1H S
il B1E 5
HIETH K4 ) B4 ERIIFAATHET
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
HARLERRBMXZES 1,800,000 A B & 0
z = & 422,304
e B TSR 392,504
EH25H 29,800
w5 42,345
LI ¢ 0
ST T/ ¢ 665,225
¢ 340,568
X B O#% 9,556
T kR # 63,079
wom & 0
HE 2 58,302
Z OO FFE off:
Z DDA
= ] it 1,800,000 = =] i 1,601,379
] [=] 7t 0 i =] it 0
o it 1,800,000 % i 1,601,379
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 462,400
B 582,560
MEEFZHEAH R34 A 16 A H 1Bl




A K4 JNRHRAR F g SR A AP SFITCEESHTADS
il Fola]
HIM AT K4 ) B4 BHILFESHTHET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 45,039
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 45,039
Al 5] it 1,800,000 Al =] At 1,601,379
o & 1,800,000 % § 1,646,418
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERE 462,400
B 582,560
MEEFZHEAH SRITHE5H 13 A FE2ElHE




o A B PRSIk EREER FRE31IFELH 28 H A

HATH B1E 5
HIM AT K4 HE i+ V31421 HET
PN HY
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(GEN () (FFB4E)
M M
ERRTERBBR A S B O3 2,680,000 A B & 0
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¢ 237,302
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wom & 0
HE 2 38,982
DO DOZR 1 10,000
ZDOMDULA 0
= =] it 3,420,000 = =] i 1,725,905
Al ] Bl 0 0} B 7 0
o & 3,420,000 % § 1,725,905
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERE 1,155,420
B 1,275,580

WEEZEEAA FRk314E4 A 22 H 551 El s oy




A K4 mi e T IE Stk ERRER STTAES A TH D
il F2lE sy
HIM AT K4 Hig fr ST 0B ET
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
0 AN # 90,000
z = & 200,000
e B TSR 200,000
EH25H 0
w5 175,429
LI ¢ 0
ST T/ ¢ 366,768
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 189,432
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 1,021,629
Al 5] it 3,420,000 Al =] At 1,725,905
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I ERIEIEA
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EH25H 0
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ST T/ ¢ 0
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M M
Ik HH 4z e aRg= 90,000 A B & 495,000
TRHIESE 100,000 % B % 1,147,624
KIGE 30,000 e B TSR 1,147,624
H b 50,000 EH25H 0
A ST 100,000 I SR ¢ 39,200
FEHRER 100,000 L I < ¢ 0
BATER 200,000 ST 1,357,260
IR LAR 100,000 =5 & 337,320
S o] B L 100,000 X B & 9,764
i A, 100,000 ' B % 60,242
e R 100,000 wom & 0
fit] ST 200,000 ot 2 34,768
[EERYINES 30,000
FRBE 50,000
IE= 50,000
RS 100,000
SFHFEZE 50,000
EH N E S 50,000
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(GEN () (FFB4E)
M M
0 AN # 460,000
z = & 5,922
e B TSR 5,922
EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 465,922
Al 5] it 2,900,000 Al =] At 3,481,178
o & 2,900,000 % § 3,947,100
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERL 1,155,420
B 1,275,580
WG ESHEA B SRS A8 H ol oy




BEHfiE K4 VT F g 3 IR A AHEF D= ERE3IAELA B H D
B1E 5
HIM AT K4 fwH EZ V31421 HET
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
HAAME O/ B IR 180,000 A B & 496,000
o R N an=| 1,500,000 %z B # 532,163
tLNFnE ESani3=| 200,000 e B TSR 532,163
G- [ fifi 36,000 EH25H 0
w5 26,754
LI ¢ 39,000
ST T/ ¢ 1,275,580
¢ 0
X R % 61,644
T kR # 197,200
wom & 0
e # 29,075
DO DOZR 1 10,000
ZDOMDULA 0
= =] it 1,926,000 = =] i 2,657,416
] [=] 7t 0 i =] it 0
o & 1,926,000 % i 2,657,416
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 1,155,420
1,275,580
MEEFZHEAH R34 A 26 A H 1Bl




A K4 I 5 F g 3 IR A AHEF D= R34 A 30 H D
il ERlE|
HIM AT K4 fwH EZ FRE314E4A 30 £ T
A X
FT=DFME
(KA. HiE4) () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
KEHH 0
w5 0
LI ¢ 0
Flooml 374,720
¢ 69,984
X B O#% 0
T kR # 0
wom & 0
HE 2 0
DA D FFIfF of:
ZDOMDULA
= ] Bl 0 = B g 444,704
Al 5] it 1,926,000 Al =] At 2,657,416
o & 1,926,000 % § 3,102,120
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERE 1,155,420
B 1,275,580
WG ESHEA B SRS A TH ol oy




A K4 I 5 F g 3 IR A AMERT D2 BFITTFESA18AND
il 305y
HIM AT K4 fwH EZ BFICESHI8HET
A X
FT=DFME
(KA. HiE4) () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 3,164
DA D FFIfF of:
ZDOMDULA
= ] Bl 0 = B g 3,164
Al 5] it 1,926,000 ] =] At 3,102,120
o & 1,926,000 % § 3,105,284
HH &
EIOVERL 120,160/
KDY AE A EE
RAZ—DIERE 1,155,420
B 1,275,580
WG ESHEA B SRS H 24 F3lalh s 4y




A K4 I 5 F g 3 IR A AMERT D2 AFITTAES A 25 H D
il Fala] 5y
HIM AT K4 fwH EZ BFICESH26HET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 13,749
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
DA D FFIfF of:
ZDOMDULA
= ] Bl 0 = B g 13,749
Al 5] it 1,926,000 Al =] At 3,105,284
o & 1,926,000 % § 3,119,033
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERE 1,155,420
B 1,275,580
WG ESHEA B SRICHE6 A3 H Al 5y




A K4 I 5 F g 3 IR A AMERT D2 SFITCEE6H AR DD
HATH #5E4y
HIM AT K4 fwH EZ SMITECH4HET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 0
¢ 226,800
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE of: 0
ZDOMDULA 200,000
= ] 7t 200,000 = B g 226,800
Al 5] it 1,926,000 Al =] At 3,119,033
o & 2,126,000 % § 3,345,833
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERL 1,155,420
B 1,275,580
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BEHfiE K4 BRI T IE Stk ST ERE3IAE2 A8 H D
il B1E 5
HHAN T K4 BRI 14 PRBIE4AA 19 £ T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
e — ST 90,000 A B & 1,080,000
/NERRIE FARTRE & 90,000 7 B & 195,984
A EEACHR s 90,000 e B TSR 183,984
PR - fila 90,000 EH25H 12,000
v VIS GifN 2= 90,000 I SR ¢ 0
WAL A =t 90,000 L I < ¢ 0
BEITRE Eagan=| 90,000 ST T 427,312
JERFH-AR flid g 90,000 =5 & 108,224
D) IR 90,000 X R % 23,573
KT I 90,000 ' B % 152,200
B 1 45 EifN 1= 90,000 wom & 0
FrEZ = 90,000 HE # 29,021
DO DOZR T 32,580
ZOMDYN 2,600,000
4 =] it 3,712,580 = =] i 2,016,314
] [=] 7t 0 i =] it 0
o it 3,712,580 % i 2,016,314
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 307,152
B 427,312
MEEFZHEAH R34 A 22 A H 1Bl




A K4 JE EET F g SR SRR ERE31ELA 24 A NS
HATH B1E 5
HIM AT K4 IR BB FRE314E4AA 1I8H £ T
PN HY
FT=DFME
(KA. HiE4) () (FFB4E)
M M
VERERERGES B S 1,890,352 AN # 0
JHAZZEFHO BRI 139,600 %z B # 142,480
RBEAIDE e B TSR 139,600
EH25H 2,880
w5 0
LI ¢ 0
Flooml 569,260
¢ 808,814
X R % 30,928
T kR # 68,364
wom & 0
M 2 16,410
Z DO FT off:
ZDOMDULA
= ] it 2,029,952 = =] i 1,636,256
Al ] Bl 0 il ] i 0
o & 2,029,952 % § 1,636,256
HH &
v 7 OMERK 119,200/
KDY AE A EE
RAL—DIVERL 408,240
B 527,440

WEEZEEAA PR3 14E4 A 19 H 551 El s oy




A K4 JE EET F g SR SRR R34 A 19 A DS
il F2lE sy
HIM AT K4 ke v J\ER SRICESH24A £ T
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 25,167
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 25,167
Al 5] it 2,029,952 Al =] At 1,636,256
o & 2,029,952 % § 1,661,423
HH &
v 7 OMERK 119,200/
KDY AE A EE
RAZ—DIERE 408,240M
B 527,440
WG ESHEA B SRICAHE6 H4H ol oy




BEHfiE K4 i 25 F g SR NG ERk314E2 A 8 H 2D
B1E 5
HIM AT K4 AR HIFT PRBIE4AA 1R £ T
PN
Fr= 5%t
(GEN (M%) (FFpH%R)
M M
IR B S B S 1,523,145 A # 0
z = & 1,289,202
B RE T 1,277,552
EH25H 11,650
w5 14,016
LI ¢ 6,800
ST T/ ¢ 901,088
¢ 158,012
X R % 31,367
T kR # 327,762
wom & 0
# 217,092
DO DOZR off 0
ZDOMDULA 790,000
= | # 2,313,145 2,945,339
Al ] Bl 0 0
% it 2,313,145 2,945,339
&
v 7 OMERK 120,000/
KO HAE AR S
RAZ—DIERL 680,000/
800,000
MEEFZHEAH R34 A 15 A H 1Bl




A K4 i 25 F g SR NG BFITESA 108D
oA
HIM AT K4 BA T ST IBHET
PN
FT=DFME
(GEN () (FFB4E)
M M
IR B S B S 80,990 A # 0
z = & 0
e B TSR 0
EH25H 0
w5 50,052
LI ¢ 0
Flooml 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
2 30,938
Z OO FFE off:
Z DDA
4 B 7t 80,990 80,990
] =] At 2,313,145 2,945,339
o & 2,394,135 3,026,329
&
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERK, 680,000
800,000/
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A K4 i 25 F g SR NG BFTTAES A 24 A0S
#3ml 4y
HIM AT K4 BA T ST H2THET
PN
FT=DFME
(GEN () (FFB4E)
M M
IR B S B S 22,236 A # 0
z = & 0
e B TSR 0
EH25H 0
w5 22,236
LI ¢ 0
ET I ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
2 0
Z OO FFE of:
ZDOMDULA
4 B 7t 22,236 22,236
Al =] At 2,394,135 3,026,329
o & 2,416,371 3,048,565
&
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERK, 680,000
800,000/
WG ESHEA B SRS H 28 H F3lalh s 4y




A K4 ks =28 F g SR A AP FRESIAESA 1H S
il B1E 5
HIM AT K4 Lm #wwE PRR314E4AA 16 H £ T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
H ORI pLaI 90,000 A B & 540,000
(iENexs EIER 90,000 %z B # 352,150
FIR=HR SHE R, 90,000 e B TSR 339,000
T 2851 JHETTER 90,000 EH25H 13,150
WH—{= EifeNi9= 90,000 wmoE 0
PEASTIEL JHETTER 90,000 L I < ¢ 0
JHtlE SEHIFiT 90,000 ST T 623,330
AARFEENRRBEES  BULSGH 40,770 I 0
X R % 0
T kR # 41,334
wom & 0
e # 10,600
DO DOZR off 0
ZOMDYN 1,500,000
= =] it 2,170,770 = =] i 1,567,414
Al E| 7 0 0} B 7 0
o & 2,170,770 % § 1,567,414
HH &
EIOVERL 120,160/
KO HAE AR S
RAZ—DIERL 462,400
B 582,560
WA EZHEA A FR314E4H 22 B F1RIHRE 5




A K4 ks =28 F g SR A AP ERE314E4AA 30 A0S
il F2lE sy
HIM AT K4 Lm #wwE W3 14E4A30H £ T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
0 AN # 0
z = & 3,360
e B TSR 3,360
KEHH 0
w5 18,642
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 22,002
Al 5] it 2,170,770 Al =] At 1,567,414
o & 2,170,770 % § 1,589,416
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 462,400
B 582,560
WG ESHEA B SRS A TH ol oy




A K4 iy =288 F g SR A AP BFITTES A 22 A0S
il 305y
HIM AT K4 Lm #wwE SRICESH24A £ T
PN HY
FT=DFME
(GEN () (FFpH%R)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 19,032
LI ¢ 0
ST T/ ¢ 0
¢ 43,362
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 62,394
Al 5] it 2,170,770 Al =] At 1,589,416
o & 2,170,770 % § 1,651,810
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERL 462,400
B 582,560
WG ESHEA B SRS H29H F3lalh s 4y




ROl OEAEEB) B o RS HE E

1 EEEOFE FERB1F4A 7R EIT REIGESHAESE ( KEHT  2EX)

2 ARRRZFIEOREIZIDRFEINE T DX HOSFEOHIIRAE (5 E R ER) 2 H%E) 6,249,800
3 HEEOHERE
A K4 KH B BiEER H AL g5 ERE3T4ELA 10 A
il H1E5y
HWELH K4 T A W3 14E4AH9R £ T
A B
F7=2% kMt
(K4, FE4) () (F bR
M M
BHES fliiaie 100,000 NGO ¢ 0
[N L= 100,000 % B % 0
WA Y= 50,000 R EB TR 0
f£HE2HE 0
W oE & 19,706
R & 0
Foom 541,510
=E & 0
X R # 0
7 m # 5,000
w o\ & 0
HE b g 6,264
Z Ot Fht ot 0
Z DDA 400,000
& =] 7 650,000 & =] 7 572,480
] =] g 0 il =] F 0
H 650,000 i 572,480
HH S
I DMER 120,160
FZHOIBL AT AR S EE
RAZ—DIER 402,200
i 522,360
WmEEZHEA A Rk314E4 A 20 H FE1EERE Sy




i K4 KH BRI BERRUS HERER SERE304E11 H 30 A A

HATH B1E 5
HIM AT K4 FH BEE PRBIE4AA 12H £ T
PN HY
FT=DFME
(GEN () (FFB4E)
M M
FHRERFRBMESS BT 1,000,000 A B & 148,000
K H AR Eyanid= 16,000 %z B # 725,560
e B TSR 725,560
EH25H 0
w5 864
LI ¢ 42,520
ST T/ ¢ 955,664
¢ 769,400
X R % 3,870
T kR # 74,391
wom & 0
HE # 1,512
DO DOZR 44 28,000
ZOMDYN 2,000,000
= =] it 3,044,000 = =] i 2,721,781
Al ] Bl 0 0} B 7 0
o & 3,044,000 % § 2,721,781
HH &
EIOVERL 120,000/
KDY AE A EE
RAZ—DIERL 770,000
B 890,000

WEEZEEAA k3144 A 18 H 551 El s oy




N DA O3EEEBN B N R HEE

1 ®EOWEH FRB144A 7THHT KRGS RS (KRt

2 NIREZEEOMEIC L8RS B3 2 3 O SO HIBRAE (A E 2 EE) # H4E) 5,935,100

HIEX)

3 EEOEE
i K4 ey Frer EEERS H AL 3, ERE3IAEIA 1 H
HAR EERA
HH BT K4 A H1E FRE3IFE4AIRET
A X
L7=D %M
(K4, k) (%) (FFBft4H)
M M
HAAKRAE R4k 2 700,000 NG ¢ 0
H &1 T 500,000 % B # 90,000
A AR pE AR B IRAL B 3 90,000 BT 90,000
X ZES S Y & ¢ 0
W o 0
B I ¢ 0
Foo ol 2 626,450
= { 172,800
X B O& 0
B’ B #® 35,158
w m # 0
HE # 1,075
Z DML T of
Z DDA
A B 7t 1,290,000 & ] 7t 925,483
il =] 7t 0 i} (=] 7t 0
® it 1,290,000 N it 925,483
THH &%
EIDOIER, 120,160
KDY BAE A Y EH
BRZ—DIERL 480,750
i 600,910
WEEZHEA A R34 A 19 H H1EE




A K4 N S F g SR HhRRER ERE304E11 H 30 H b
il B1E 5
HIM AT K4 INR R PRR3I4E4AA 14H £ T
A HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
FHRERFRBMESS BT 1,000,000 A B & 900,000
Mo AR EIER 135,000 %z B # 230,000
[INA=NEEES il 54 135,000 e B TSR 230,000
LA A JHETTER 90,000 EH25H 0
RNV JHE NG 90,000 I SR ¢ 589,062
I\RITih JHETTER 90,000 T R < ¢ 0
INIR—8L JHEHE 90,000 Bloml 1,127,188
IR flid g 90,000 =5 & 35,210
JFIE S T 90,000 X B & 0
Fith A FL I 90,000 ' B % 111,640
wom & 0
HE 5 50,240
DO DOZR 1 9,720
ZOMDYN 2,000,000
= =] it 3,909,720 = =] i 3,043,340
] [=] 7t 0 i =] it 0
o & 3,909,720 % § 3,043,340
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 828,828
B 948,988H
WEEZAFAH TAR314E4 T 15 H AR Sy




i K4 e BERRUS HERER SERE304E11 H 30 A A

HATH B1E 5
HIM AT K4 HH E— k31448 H £ T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
FHRERFRBMESS BT 1,000,000 A B & 375,000
TN EIER 90,000 %z B # 90,000
P R 30,000 e B TSR 90,000
P ES S AL RS BRI 85,500 EH25H 0
w5 36,000
LI ¢ 0
Flooml 948,988
¢ 43,200
X R % 13,500
T kR # 161,338
wom & 0
HE # 36,000
Z DO FT off:
ZDOMDULA
= ] it 1,205,500 = =] i 1,704,026
Al ] Bl 0 0} B 7 0
o & 1,205,500 % § 1,704,026
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAL—DIVERL 828,828
B 948,988H

WEEZEEAA k3144 A 18 H 551 El s oy




i K4 JEEF Rk BERRUS ERERER ERE314E2 A 13 H D

HATH B1E 5
HIM AT K4 HBH 2% PRR314E4A 22 £ T
PN HY
FT=DFME
(GEN () (FFB4E)
M M
ERREERABRRKIEA S BT 1,000,000 A B & 315,000
[ R A 4 B IR A2 RS B, 1,680,000 %z B # 398,736
B RE T 398,736
EH25H 0
w5 20,607
LI ¢ 0
Flooml 912,160
¢ 180,000
X R % 2,478
T kR # 242,697
wom & 0
HE # 17,897
Z DO FT off:
ZDOMDULA
= =] it 2,680,000 = =] i 2,089,575
Al ] Bl 0 0} B 7 0
o & 2,680,000 % § 2,089,575
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERK, 792,000/
B 912,160H

WEEZEEAA FRk314E4 A 22 H 551 El s oy




BEHfiE K4 BT BIR F g SR ERRER HFITESA18AND
il F2lE sy
HIM AT K4 HBH 2% SITAES 23 ET
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
0 AN # 0
z = & 136,640
e B TSR 136,640
EH25H 0
w5 89,755
LI ¢ 0
ST T/ ¢ 405,000
¢ 500,000
X B O#% 0
T kR # 0
wom & 0
HE 2 34,939
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 1,166,334
Al 5] it 2,680,000 Al =] At 2,089,575
o & 2,680,000 % § 3,255,909
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 792,000
B 912,160H
MEEFZHEAH SRS H 23 A FE2ElHE




ROl OEAEEB) B o RS HE E

1 EEORE FRRB1HF4A 7TRHT RENGERRARS (R 25X)

2 ARRRZFIEOREICZIDRFEIE T DX HOSFEDOHIIRAE (5 E R ER 2 H%E) 6,133,300
3 HEEOHERE
A K4 AH ER g SR HHERER 3142 A 12 A
il #1mE5y
HWELH K4 20 fEA W3 14E4 A 19 £T
A B
F7=2% kMt
(K4, FE4) (F3) (F bR
M M
BRARBESGHEAS  BOE 1,000,000 NGO ¢ 675,675
AHEREES BUAFIK 1,000,000 % =B % 1,532,080
R EB TR 1,512,080
f£HE2HE 20,000
W oE & 0
R & 77,060
Foom 730,890
=E & 538,952
X R # 0
7 m # 122,395
w o\ & 0
ME g 7,044
Z Ot Fht ot 0
Z DDA 2,000,000
& =] g 4,000,000 & =] 7 3,684,096
] =] g 0 il =] F 0
B 4,000,000 i 3,684,096
HH S
I DMER 116,640
FZHOIBL AT AR S EE
RAZ—DIERK, 506,250
i 622,890
WmEEZHEA A R314E4 A 22 H 1R E




A K4 AH EER BEERIR H R ERE314EAA 24 AN
il ERlE|
HIM AT K4 ZrE EA V3144 24HET
A X
FT=DFME
(KA. HiE4) () (FFB4E)
M M
0 AN # 0
% B # 14,006
B RE T 14,006
EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
DA D FFIfF off:
Z DDA
= ] Bl 0 = B g 14,006
Al 5] it 4,000,000 Al =] At 3,684,096
o & 4,000,000 % § 3,698,102
HH k|
v 7 OMERK 116,640M
KDY AE A EE
RAZ—DIERE 506,250
B 622,890
WEEZAEL B R34 A 30 A FE2ElHE




A K4 AH[EKR F g SR HhRRER BFITESA 108D
il 305y
HIM AT K4 ZrE EA ST IBHET
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
0 AN # 0
z = & 515,136
e B TSR 515,136
EH25H 0
w5 65,309
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 864
Z OO FFE off: 0
ZDOMDULA 300,000
= ] 7t 300,000 = B g 581,309
Al 5] it 4,000,000 Al =] At 3,698,102
o & 4,300,000 % § 4,279,411
HH &
v 7 OMERK 116,640M
KO HAE AR S
RAZ—DIERL 506,250
B 622,890
WG ESHEA B SRS 15 H F3lalh s 4y




R K4 JIn e R FIT I S IR BB RFER JERE304E11 H 30 H
HH a5y
HIE AT K4 ZH KB SFEAESHITHET
IRA X
F7=D75kMt
(4. HlE4) (T%36) (FFI48)
| |
HRWARRBBESGESGS  BOLSEH 1,000,000 A 566,000
JIA R EYanE] 90,000 % B % 451,840
JIa %71 S0 90,000 iR 8 Y T 451,840
LA e 73—k 90,000 S k¢ 0
TR B ¥ 90,000 m fF & 0
RERKD A i L 400,000 L R = ¢ 0
BRI 2 1,226,842
I 407,746
x B #% 0
= m A 249,500
wom % 0
e #y 2,567
Z DD ZLfE oft: 0
ZDOMDILA 1,000,000
& 5] i 2,760,000 A =] i 2,904,495
Al =] 7t 0 Al ] # 0
% 7t 2,760,000 EN i 2,904,495
HAH &4
E I OIER 120,160/
KHOIHAT AT L%
RAZ —DIERL 821,682
i 941,842

WEHEZHEHA B

SFILAH6H 18 H




A K4 [ F g SR SRR ERBIFELA 12 A0S
HATH B1E 5
HIM AT K4 A IRA FRE314E4AA 1I8H £ T
PN HY
FT=DFME
(GEN () (FFpH%R)
M M
SRR WA B RS 790,352 AN # 340,000
BEAEFERT EIER 70,000 %z B # 35,581
FEREFIIN - i 60,000 e B TSR 35,581
Bl B3 90,000 EH25H 0
TH i JHETTER 50,000 I SR ¢ 1,217
RO FER =t 70,000 T R < ¢ 0
ST T/ ¢ 1,070,644
¢ 772,677
X R % 0
T kR # 69,642
wom & 0
HE # 3,597
DO DOZR off 0
ZOMDYN 1,300,000
4 =] it 2,430,352 = =] i 2,293,358
] [=] 7t 0 i =] it 0
o & 2,430,352 % § 2,293,358
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 680,724
B 800,884
MEEFZHEAH FRE3IFEAA19A H 1Bl




A K4 [ F g SR SRR SFITCEES H3A DD
il ERlE|
HIM AT K4 [ XN} SRICESH28H T
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
I SR ¢ 2,108
LI ¢ 0
ST T/ ¢ 0
¢ 0
XORO#® 0
T kR # 0
wom & 0
HE 2 3,480
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 5,588
Al 5] it 2,430,352 Al =] At 2,293,358
o & 2,430,352 % § 2,298,946
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERE 680,724
B 800,884
MEEFZHEAH SRS H 28 H FE2ElHE




ROl OEAEEB) B o RS HE E

1 BREOFEE FERS1HF4ATHHIIT RREHSHEERS (BT mHE  B%X)
2 ARRRZFIEOREICZIDRFEIE T DX HOSFEOHIIRAE (5 E R ER) 2 H%E) 6,255,100
3 WMiEEOHEE
A K4 HA A BiEER H AL g5 RS4R3 A 25 A7
]| #1mE5y
HWELH K4 7)1l WR31E4A9R ET
A B
F7=2% kMt
(K4, FE4) () (F bR
M M
0 N ¢ 0
5 B B 58,300
R EB TR 58,300
f£HE2HE 0
W oE & 0
R & 3,450
Foom 449,650
=E & 0
X R # 0
7 m # 9,341
w o\ & 0
ME g 4,864
DD 211F 65,000
Z DDA 50,000
& =] g 115,000 & =] g 525,605
] =] g 0 il =] F 0
7 115,000 7 525,605
HH S
I DMER oM
FZHOIBL AT AR S EE
WAL —DIVER, 430,800
i 430,800
WmEEZHEA A R314E4 A 22 H 1R E




A K4 HA A F g 3 IR A AP STTAES H9H D
il F2lE sy
HIM AT K4 )l IETE ST ISHET
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
0 AN # 0
z = & 3,356
e B TSR 3,356
EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 0
¢ 20,000
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off: 0
ZOMDYN 3,161
= ] Bl 3,161 = B g 23,356
Al ] Bl 115,000 i =] it 525,605
o it 118,161 % i 548,961
HH &
BT DIERL 0
KO HAE AR S
RAZ—DIERL 430,800/
B 430,800H
MEEFZHEAH SRS H20H FE2ElHE




A K4 Bl R BEERIR HHERER ERL304EL1H 30 H v
il B1E 5
HIM AT K4 AR Fov V314 190 £T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
FHRERFRBMESS BT 1,000,000 A B & 270,000
/MR R 73—k 90,000 %z B # 283,492
Fex il liiE- EREES 90,000 e B TSR 283,492
NS B3 90,000 EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 795,780
¢ 38,880
X R % 14,833
T kR # 99,941
wom & 0
HE 5 60,177
Z DO FT off:
Z DDA
= =] it 1,270,000 = =] i 1,563,103
Al ] 7 0 0} B 7 0
o & 1,270,000 % § 1,563,103
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 579,500
B 699,660
MEEFZHEAH R34 A 22 A H 1Bl




A K4 Bl R F g SR H R SFITCEESHIA DD
il F2lE sy
HIM AT K4 A Fnt SRICESHI0A T
A X
FT=DFME
(KA. HiE4) () (FFB4E)
M M
RAMRBLISEE BUaHIK 2,000,000 A B & 0
z = & 1,800,000
B HEB T 1,800,000
EH25H 0
w5 62,526
LI ¢ 293,920
ST T/ ¢ 0
¢ 0
XORO#® 0
T kR # 0
wom & 0
HE 2 0
DA D FFIfF of:
ZDOMDULA
= ] it 2,000,000 = =] i 2,156,446
Al 5] it 1,270,000 Al =] At 1,563,103
o & 3,270,000 % § 3,719,549
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERK, 579,500
B 699,660
WEEZAFAH ARIEFE5H 15 H CERAE Sy




A K4 Bl R F g SR HhRRER SFITCEE6H AR DD
il 305y
HIM AT K4 A Fnt SMITECASHET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
RAMRBLISEE BUaHIK 130,263 A B & 270,000
z = & 0
e B TSR 0
EH25H 0
w5 110,374
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 130,263 = B g 380,374
Al 5] it 3,270,000 Al =] At 3,719,549
o & 3,400,263 % § 4,099,923
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERK, 579,500
B 699,660
WG ESHEA B SRICHE6 A TH F3lalh s 4y




A K4 BH X0 F g SR N ERk314E2 A 8 H 2D
il B1E 5
HIM AT K4 b s k31448 H £ T
A HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
AR R R IR S B S 852,575 A B & 0
z = & 564,824
e B TSR 551,144
EH25H 13,680
w5 0
LI ¢ 3,470
ST T/ ¢ 796,639
¢ 351,268
X R % 7,039
T kR # 173,412
wom & 0
HE 5 98,378
DO DOZR off 0
ZDOMDULA 536,000
= ] it 1,388,575 = =] i 1,995,030
Al E| 7 0 0} B 7 0
o & 1,388,575 % § 1,995,030
HH &
v 7 OMERK 120,000/
KO HAE AR S
RAZ—DIERL 570,000
B 690,000
WEEZAFAH TAR314E4 T 15 H AR Sy




A K4 BH X0 F g SR N BFITESA 108D
il ERlE|
HHAN T K4 Wk sEk SRICFESHI3AET
PN HY
FT=DFME
(GEN () (FFpH%R)
M M
AR R R IR S B S 57,496 A B & 0
z = & 10,000
B RE T 10,000
KEHH 0
w5 34,259
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 13,237
Z OO FFE off:
Z DDA
= ] Bl 57,496 = B g 57,496
Al 5] it 1,388,575 ] =] At 1,995,030
o & 1,446,071 % § 2,052,526
HH &
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERL 570,000
B 690,000

SRS H1TH

520 5y




A K4 Fril B3 F g SR ERRER ERE31E2 A 13 B0
HATH B1E 5
HIM AT K4 Rk V314 100 E£T
PN HY
FT=DFME
(GEN () (FFpH%R)
M M
ERERER 600,000 A B & 550,000
E R R E A B IR SGHES 1,170,000 %z B # 32,600
B RE T 25,000
EH25H 7,600
w5 13,370
LI ¢ 78,973
ST T/ ¢ 760,660
¢ 269,397
X R % 36,461
T kR # 69,453
wom & 0
e # 40,750
DO DOZR off 0
ZOMDYN 1,000,000
= ] it 2,770,000 = =] i 1,851,664
Al ] Bl 0 0} B 7 0
o & 2,770,000 % § 1,851,664
HH &
EIOVERL 120,160/
KO HAE AR S
RAZ—DIERL 640,500
B 760,660

WEEZEEAA FRk314E4 A 22 H 551 El s oy




A K4 Fril B3 T IE Stk [ R BFITESA 108D
il F2lE sy
HIM AT K4 Rk SRICHFESHI0H ET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 17,323
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 17,323
Al 5] it 2,770,000 Al =] At 1,851,664
o & 2,770,000 % § 1,868,987
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERE 640,500
B 760,660
MEEFZHEAH SRS H20H FE2ElHE




BEHfiE K4 LA T IE Stk ST R34S A 25 A0S
il B1E 5
HIM AT K4 LA R PRR314E4A 22 £ T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
Bl RET R 300,000 A B & 270,000
AR Fhaf@AEA 1,000,000 7 B & 135,000
A & e B TSR 135,000
EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 1,168,840
¢ 142,614
X B & 0
T kR # 0
wom & 0
HE # 0
DO DOZR off 0
ZDOMDULA 100,000
= ] it 1,400,000 = =] i 1,716,454
Al ] Bl 0 0} B 7 0
o & 1,400,000 % § 1,716,454
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 724,680
B 844,840
MEEFZHEAH R34 A 22 A H 1Bl




ROl OEAEEB) B o RS HE E

1 BEOFEE ER3144H 7THHIT REEHBSEESRE (BOFT #8#%KX)
2 NSRS EOBEIC LA E TN B 45 3 H O S FED I FRAE (5 & 8 2 H%8) 5,910,100
3 WEHEDHEEF
A K4 A B BiEER HHERER RS 14E2 A 25 H b
il H1El5y
HWELH K4 NPt W3 14E4 A 20 £T
A B
F7=2% kMt
(K4, FE4) () (F bR
M M
0 N ¢ 270,000
5 B B 1,372,440
R EB TR 1,372,440
f£HE2HE 0
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X R % 6,150
T kR # 124,023
wom & 0
M 2 21,609
DO DOZR 1 10,000
ZDOMDULA 100,000
= =] it 2,340,000 = =] i 1,415,181
Al ] Bl 0 il ] i 0
o & 2,340,000 % § 1,415,181
HH &
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERK, 486,000
B 606,000

R34 H 18 H

551 El s oy




A K4 FElis el F g 3 IR TR FRE314E4A A 26 A NS
il F2lE sy
HIM AT K4 Bl Fesh FRR314E4A 26 H £ T
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
I SR ¢ 6,542
LI ¢ 0
ST T/ ¢ 0
¢ 0
XORO#® 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 6,542
Al 5] it 2,340,000 ] =] At 1,415,181
o & 2,340,000 % § 1,421,723
HH &
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERE 486,000
B 606,000
MEEFZHEAH R34 A 30 A FE2ElHE




A K4 FElis el F g 3 IR TR SFITCEESHIA DD
il 305y
HIM AT K4 Bl Fesh SRICHFESHI0H ET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
I SR ¢ 873
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 32,000
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 32,873
Al 5] it 2,340,000 ] =] At 1,421,723
o & 2,340,000 % § 1,454,596
HH &
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERE 486,000
B 606,000

SFEHESH 13H

CERIEIR =gy




A K4 FElis el F g 3 IR TR AFTTES A 20 B0
il |
HIM AT K4 Bl Fesh SRS H22H ET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
KEHH 0
w5 0
LI ¢ 0
ST T/ ¢ 0
¢ 51,975
X B O#% 0
T kR # 0
wom & 0
HE 2 2,462
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 54,437
Al 5] it 2,340,000 ] =] At 1,454,596
o & 2,340,000 % § 1,509,033
HH &
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERE 486,000
B 606,000
MEEFZHEAH SRS H 24 FEARIHE




A K4 FElis el F g 3 IR TR BFITTESA2TAND
HATH #5E4y
HIM AT K4 Bl Fesh SRS H2THET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 14,352
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 14,352
Al 5] it 2,340,000 ] =] At 1,509,033
o & 2,340,000 % § 1,523,385
HH &
v 7 OMERK 120,000/
KDY AE A EE
RAZ—DIERE 486,000
B 606,000
WG ESHEA B SRS H30H 5l 4y




A K4 JIIE & T IE Stk TR FERE31AE2 A 21 AN
HATH B1E 5
HIM AT K4 W B FRE314E4AA 1I8H £ T
PN HY
FT=DFME
(GEN () (FFB4E)
M M
AN # 270,000
z = & 432,698
e B TSR 432,698
EH25H 0
w5 7,046
LI ¢ 1,240
ST T/ ¢ 1,021,972
¢ 149,580
X B O#% 12,404
T kR # 134,272
wom & 0
HE 2 22,750
Z DD 1 10,000
ZOMDYN 1,200,000
= =] it 1,210,000 = =] i 2,051,962
Al ] Bl 0 0} B 7 0
o & 1,210,000 % § 2,051,962
HH &
EIOVERL 120,160/
KDY AE A EE
RAZ—DIERL 813,252
B 933,412H
WA EZHEA A FR314E4H 22 B F1RIHRE 5




NWROEAH O EB) BT ORI EEF
1 BRROWE TRS1EAATHRT FERHSHRARE (BT BEX)

2 NIREZEEOMEIC L8RS B3 25 O SO M BRAE (A E R EE) # H4E) 6,420,800

3 EEOEE
A T4 D] EEERS HHRFER RZ304FEL1H 30 H D
HAR EERA
HH BT K4 HE BHIL FREBIFEAATHET
A X
L7=D %M
(K4, k) (%) (FFBft4H)
M M
HHREERRBEMEES B 1,000,000 A 30,000
% B # 388,800
BT 0
S Y & ¢ 388,800
W o 13,120
B I ¢ 204,984
Foo ol 2 486,000
= { 0
X B O& 2,646
B OB 146,935
w m # 0
HE # 71,188
Z DML T of
Z DDA
A B 7t 1,000,000 & ] 7t 1,343,673
Al [\ 7t 0 i} (=] 7t 0
® it 1,000,000 N it 1,343,673
THH &%
EZOVERL 0
KDY BAE A Y EH
BRZ—DIERL 486,000
i 486,000
WEEZHEEAH R34 A 22 H H1EE




ROl OEAEEB) B o RS HE E

1 EFOFE FRSIF4ATAHIT RERBESHEEE (FIh-FIEal ¥ X)
2 NGRS EOBEIC LA ESEEN B 45 3 H O SFEOHI R4 (5 E iR E 8 2 1% 6,362,700
3 WMiEEOHEE
fEEffi# K4 M HER g SR HHERER ERE304E11 H 30 A M
il CAlGIES:
HWELH K4 HE BR W3 14E4 A 16 HE£T
A B
F7=2% kMt
(K4 . Fk4) (F3) (B4R
M M
HHREXRFERIMESS BUE 1,000,000 NGO ¢ 317,500
FEAT{EE 200,000 % =B % 60,620
R EB TR 5,220
f£HE2HE 55,400
W oE & 31,498
R & 9,403
Foom 896,640
=E & 370,926
X R # 0
7 m # 49,622
w o\ & 0
ME g 17,503
Z DA D FE It off: 0
Z DDA 1,000,000
= =] i 2,200,000 = [=] i 1,753,712
] =] g 0 il =] F 0
B 2,200,000 i 1,753,712
HH S
S OIER 120,160/
F O HAE A Y%
RAZ—DIER 465,000
Z 585,160
wmEEZ PR3 14E4 A 19H 1R E




A K4 B R F g SR HhRRER ERESI4EAA 19 H 0
il ERlE|
HIM AT K4 EESINESS PRR314E4A 22 £ T
A HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
0 AN # 60,000
z = & 108,000
e B TSR 108,000
EH25H 0
w5 0
LI ¢ 8,000
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 176,000
Al 5] it 2,200,000 Al =] At 1,753,712
o it 2,200,000 % i 1,929,712
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 465,000
B 585,160
W EZ A A k3144 A 23 H 2B E 7y




A K4 H AR F g SR HhRRER AFTTES A28 AN
il 305y
HIM AT K4 HE BRK SRS H28H ET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 23,920
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 23,920
Al 5] it 2,200,000 Al =] At 1,929,712
o & 2,200,000 % § 1,953,632
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERE 465,000
B 585,160
WG ESHEA B SRS H 28 H F3lalh s 4y




BEHfiE K4 FRHE At T IE Stk ST ERESIAELAILH D
il B1E 5
HIM AT K4 WHE AT PRE314E4A 200 £ T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
R THI— B3 90,000 A B & 630,000
Ze [ N an=| 90,000 %z B # 242,805
WA ExT 90,000 e B TSR 206,000
EIEED B3 90,000 EH25H 36,805
w5 58,456
LI ¢ 212,436
ST T/ ¢ 943,232
¢ 225,744
X R % 74,252
T kR # 193,873
wom & 120,340
e # 145,636
DO DOZR off 0
ZOMDYN 3,000,000
= =] it 3,360,000 = =] i 2,846,774
Al ] Bl 0 0} B 7 0
o & 3,360,000 % § 2,846,774
HH &
EIOVERL 120,160/
KO HAE AR S
RAZ—DIERL 696,600
B 816,760
MEEFZHEAH R34 A 22 A H 1Bl




BEHfiE K4 FRHE At T IE Stk ST ERS14E4A 22 H b
il ERlE|
HIM AT K4 WHE AT PRR3I4E4AA 23 B £ T
A HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
0 AN # 0
z = & 21,900
e B TSR 21,900
EH25H 0
w5 32,814
LI ¢ 0
ST T/ ¢ 471,680
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 4,286
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 530,680
Al 5] it 3,360,000 ] =] At 2,846,774
o & 3,360,000 % § 3,377,454
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 696,600
B 816,760
W EZ A A 3144 25 H 2B E 7y




BEHfiE K4 FRHE At T IE Stk ST BFITTESA2LA DD
il 305y
HIM AT K4 WHE AT SRS H21HET
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
0 A B & 0
z = & 93,301
e B TSR 93,301
EH25H 0
w5 0
LI ¢ 159,840
ST T/ ¢ 107,460
¢ 52,878
X B O#% 0
T kR # 0
wom & 0
HE 2 14,534
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 428,013
Al 5] it 3,360,000 ] =] At 3,377,454
o & 3,360,000 % § 3,805,467
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 696,600
B 816,760

SFEHE5H23H

CERIEIR =gy




A K4 FRHE At F g 3 IR TR BFITTETA 25 BDD
il |
HIM AT K4 WHE AT SRICETH2HET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 27,531
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 27,531
Al 5] it 3,360,000 ] =] At 3,805,467
o & 3,360,000 % § 3,832,998
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERE 696,600
B 816,760

WEEZEEAA SFFEHETH31H

HEAEER




A K4 FRHE At F g 3 IR TR STTAEI2A 131
HATH #5E4y
HIM AT K4 WHE AT STTAEI2A13H
PN HY
F-B%4F
(GEN () (Ff4%80)
M M
0 AN # 0
z = & 0
e B TSR 0
KEHH 0
w5 0
LI ¢ 0
ST T/ ¢ 0
¢ 450,000
X B O#% 0
T kR # 0
wom & 0
HE 2 0
ZOMDOFEF off: 0
Z DDA 110,000
= ] 7t 110,000 = B g 450,000
Al 5] it 3,360,000 ] =] At 3,832,998
o & 3,470,000 % § 4,282,998
HH &
EIOVERL 120,160/
KDY AE A EE
RAZ—DIERK, 696,600
B 816,760
MEEFZHEAH SFTHE12H 23 H HEblElHE




IO E OFEFEEN T AU LR E E L F
1 @FOFE FRBSIF4ATAHIT RERRFESHREESE (AR BEX)
2 ARRRZFEIEOREIZIDRFEIE T DX HOSFEOHIIRAE (5 E R ER 2 H%E) 6,632,000

3 HEHFOHE

A K4 NN ISR AAHERT D= ERR314E2 A 22 A NS
T EANEESS
HIN A K4 NS FREBIE4A 18R £ T
A X
F7=2% kMt
(K4, BlE4) (M) (FFpit%E)
M M
R s = B E S 100,000 N ¢ 1,800,000
i) 151 T 100,000 % =B & 2,676
A AHERT D73 B IR ST 180,000 BRI 2,676
ARZET T 90,000 fa=h e 0
IINEF A AT 90,000 W fE & 51,692
INEF SRR T ST 90,000 L I~ ¢ 10,100
FOEE pLaI 90,000 Fo R # 1,044,960
IEpiIES EIER 90,000 =E & 48,600
FUREPS JHETTER 90,000 X R # 0
B fila 90,000 7 m # 36,212
HERT SETTER 90,000 wom & 0
N N JHE . 90,000 Mt g 33,406
IINBRIBR AT JHE Tk 90,000
A T 90,000
fm HIESE T 90,000
AR — IR 90,000
4 Yt A 90,000
AT A 90,000
WERLES N 90,000
[OE s e 90,000
H I 5 e 90,000
190 (1 A =£3 90,000
AT SHERH: 90,000
Z DO FFE off: 0
ZDOMDULA 898,414
= =] At 3,078,414 4 =] i 3,027,646
] B # 0 ] B g 0
% it 3,078,414 % i 3,027,646
HH ok
EIOVERL 120,160/
KO HAE AR S
REAZ—DIERL 924,800/
B 1,044,960




Ho

e

TFRE314F4 A 23 H

S LR




R K4 K FIT I S IR B R SERRSIAELH 1A DS
HH a5y
HI S K4 ANFE T FRKSIME4AASHET
IRA S
F7=D75kMt
(4. HlE4) (M 2£) (FFI48)
M M
0 A AR 270,000
% B # 0
B G T 0
fEaGE 0
m fF & 0
LI R = ¢ 0
BRI 2 1,044,960
I 0
x B #% 19,824
= m A 323,606
wom % 0
e #y 34,837
Z DD ZLfE off: 0
ZDOMDILA 2,000,000
& 5] i 2,000,000 A =] i 1,693,227
Al =] 7t 0 Al ] # 0
% 7t 2,000,000 EN i 1,693,227
THH &4
E I OIER 120,160/
KHDIBAE A Y 4R
WAL —DIVERL 924,800
i 1,044,960
WS EZ A H PRI 22 H LR Y




BEHfiE K4 I BREE F g SR MERER W3 4E3 A 29 H D
il B1E 5
HIM AT K4 DIV FRE314E4AA 1I8H £ T
A HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
)Y 2 iR BUaHIK 81,000 A B & 225,000
SRR AR R A BUiR 3H 1,890,352 %z B # 81,000
e B TSR 81,000
EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 598,448
¢ 824,053
X R % 1,982
T kR # 180,124
wom & 0
HE # 5,979
DO DOZR off 0
ZDOMDULA 100,000
= ] it 2,071,352 = =] i 1,916,586
Al E| 7 0 0} B 7 0
o & 2,071,352 % § 1,916,586
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 436,968
B 557,128
WEEZAFAH TAR314E4 T 18 H AR Sy




A K4 I BREE F g SR SRR R34 A 19 A DS
il F20E
HIM AT K4 RIS ST 22 ET
PN HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
EH25H 0
w5 18,613
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 18,613
Al 5] it 2,071,352 ] =] At 1,916,586
o & 2,071,352 % § 1,935,199
HH &
v 7 OMERK 120,160/
KDY AE A EE
RAZ—DIERL 436,968
B 557,128

WEEZEEAA SFEHEsH22H 520 5y




A K4 AR AR F g SR A AP FRESIAESA 1H S
il B1E 5
HHAN T K4 WA #br PR3IFEAH9H FT
PN HY
Fr= 5%t
(GEN (M%) (FFpH%R)
M M
H ARG PE R 73 B IR B S 90,000 A B & 0
X Z B4 %z B # 90,000
AR EifzNT9= 300,000 e B TSR 90,000
EH25H 0
wmoE 0
LI ¢ 0
ST T/ ¢ 552,270
¢ 38,261
X R % 0
T kR # 4,999
wom & 0
HE # 0
DO DOZR off 0
ZDOMDULA 500,000
= ] 7t 890,000 = B g 685,530
] [=] 7t 0 i =] it 0
% it 890,000 % i 685,530
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 415,450
B 535,610
MEEFZHEAH R34 A 20 H 1Bl




A K4 AR AR F g SR A AP ERS14E4A 23 H b
il ERlE|
HIETH K4 BAL b PRR3I4E4AA 23 B £ T
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
0 AN # 0
z = & 0
e B TSR 0
KEHH 0
w5 0
LI ¢ 0
ST T/ ¢ 173,880
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 173,880
Al ] Bl 890,000 i =] it 685,530
o it 890,000 % i 859,410
HH &
v 7 OMERK 120,160/
KO HAE AR S
RAZ—DIERL 415,450
B 535,610
MEEFZHEAH SRITHESH 14 A FE2ElHE




ROl OEAEEB) B o RS HE E

1 @FOFE FRSIF4ATABIT RERRZESHEES (BT BEX)
2 ARRREFEIEOREIZIDRFEIE T DX HOSFEOHIIRAE (5 E RS ER) 2 H%E) 5,571,900
3 HEEOHERE
A K4 FE EE g SR HHERER ERE3I4AE3 A 1 H D
il #1mE5y
HWELH K4 FE ETE FRLI4E4AA9H ET
A B
F7=2% kMt
(K4, FE4) (F3) (F bR
M M
EfEE EQIEIEIEEN 30,000 NGO ¢ 70,000
5 B B 88,320
R EB TR 88,320
f£HE2HE 0
W oE & 0
R & 98,000
Foom 372,600
=E & 69,120
X R # 0
7 m # 50,260
w o\ & 0
ME g 77,760
DD A4 40,000
Z DDA 1,000,000
= =] i 1,070,000 = [=] i 826,060
] =] g 0 il =] F 0
B 1,070,000 i 826,060
HH S
I DMER 48,600
F O HAE A Y%
RAZ—DIERK, 324,000
i 372,600
WmEEZHEA A 3144 A 15H 1R E




A K4 AR 5254 BEERIR H R ERL304EL1H 30 H v
HATH B1E 5
HIM AT K4 WiE FRE314E4AA 1I8H £ T
A HY
FT=DFME
(GEN () (FFB4E)
M M
L% [GES 35,000 A 80,000
z = & 880,554
e B TSR 880,554
EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 840,000
¢ 193,200
X B O#% 12,513
T kR # 13,650
wom & 0
HE 2 64,148
Z DD 5 50,000
ZOMDYN 2,500,000
= ] it 2,585,000 = =] i 2,084,065
] [=] 7t 0 i =] it 0
o & 2,585,000 % § 2,084,065
HH &
EIOVERL 105,000/
KDY AE A EE
RAZ—DIERL 735,000
B 840,000
W EZ A A 3144 18 H 1Bl E 7y




A K4 A 5254 F g SR HhRRER ERKS14E4 A 20 H b
il ERlE|
HIM AT K4 WiE PRE314E4A 200 £ T
A HY
FT=DFME
(GEN () (FFB4E)
M M
0 AN # 0
z = & 0
e B TSR 0
KEHH 0
w5 12,358
LI ¢ 0
ST T/ ¢ 0
¢ 0
X B O#% 0
T kR # 0
wom & 0
HE 2 0
Z OO FFE off:
Z DDA
= ] Bl 0 = B g 12,358
Al 5] it 2,585,000 Al =] At 2,084,065
o & 2,585,000 % § 2,096,423
HH &
v 7 OMERK 105,000/
KDY AE A EE
RAZ—DIERE 735,000
B 840,000
W EZ A A k3144 A 23 H 2B E 7y




ROl OEAEEB) B o RS HE E

1 BEFEOMEE FRRS14F4A7THBIT REEESHEEES (LSRR BEEX)
2 NSRS EOBEIC LA ETN B 45 3 H O S FEDHI R4 (5 &R S8 2 1% 6,205,100
3 WMiEEOHEE
A K4 W B g SR HHERER ERE304E11 H 30 A M
HA CAlGIES:
HAEEE K4 AN TERSI4E4 16 HET
N X
F7=2% kMt
(K4 . Fk4) (F3) (B4R
H !
HHREXRFERIMESS BUE 1,000,000 NGO ¢ 0
5 B B 523,260
R EB TR 523,260
LAHEHE 0
W oE & 0
R & 0
Foom 331,560
= B 83,592
X A # 0
7 m # 17,280
[T ¢ 0
HE E 2,808
Z DA D FE It off:
Z DDA
= =] B 1,000,000 = E] B 958,500
] =] g 0 il =] F 0
B 1,000,000 i 958,500
HAH S
EZOVERL 0
HHOIGLNEAFE Y4
RAZ—DIER 172,800
B 172,800
WL EZHEN A FRE314E4A17A 1R E




BEHfiE K4 SH T F g SR A AP ERES14ELA 1 H 2D
H ) EEES
HI B TLH K4 N FIE SERRSIAFAHTH T
PN HY
Fr= 5%t
(GEN (M%) (FFpH%R)
F !
0 AN # 0
z = & 176,448
e B TSR 176,448
EH25H 0
w5 27,231
LI ¢ 0
ST T/ ¢ 31,894
¢ 0
X B O#% 0
7 B & 0
wom & 0
HE 2 4,800
Z DD off 0
ZDOMDULA 500,000
= ] 7t 500,000 = B g 240,373
] [=] 7t 0 i =] it 0
% it 500,000 % i 240,373
HHE SHE
BT DIERL 0
KO HAE AR S
RAZ—DIERL 0H
§ 0F
WA EZHEA A FR314E4H 22 B F1RIHRE 5




BEHfiE K4 HAK b F g SR A AHEF D= ERE314ES A 20 AN
il B1E 5
HHAN T K4 HAK FRE3IFAA12A ET
PN HY
FT=DFME
(GEN (M%) (FFpH%R)
M M
H AR DA% FLIRFR SR B 3B 180,000 A B & 165,000
KRS ZOHOBIREK 16,129 %z B # 16,129
P HH 1E 58 TS 12,500 e B TSR 16,129
T &Rk ExT 12,500 EH25H 0
w5 0
LI ¢ 0
ST T/ ¢ 635,840
¢ 349,920
X R % 0
T kR # 9,850
wom & 0
M % 216
DO DOZR 2014 120,000
ZDOMDULA 264,786
= ] 7t 605,915 = B g 1,176,955
] [=] 7t 0 i =] it 0
o it 605,915 % i 1,176,955
HH &
v 7 OMERK 117,440
KO HAE AR S
RAZ—DIERL 453,600
B 571,040
MEEFZHEAH ERE3IFEAALTA H 1Bl




ROl OEAEEB) B o RS HE E

1 @FOFE FRBSIF4ATAHIT REREZESHBEES (T 2EX)
2 NGRS EOBEIC LA EEN B 45 3 H O S FEDHIFRAE (15 &R E 8 2 T%8) 5,401,600
3 WMiEEOHEE
fEEffi# K4 R B BiEER T ERE3I4AE3 A 1 H D
il H1El5y
HWELH K4 AR RS W3 14E4 A 20 £T
A B
F7=2% kMt
(K4, FE4) () (F bR
M M
0 N ¢ 225,000
5 B B 569,900
R EB TR 540,000
f£HE2HE 29,900
W oE & 186
R & 0
iR # 1,243,800
=E & 259,478
X R # 14,686
7 m # 305,299
w o\ & 56,760
ME g 59,802
ZFD Dt ofF: 0
Z DDA 3,000,000
& =] 7 3,000,000 & =] 7 2,734,911
] =] g 0 il =] F 0
B 3,000,000 i 2,734,911
HH S
S OIER 108,000/
FZHOIBL AT AR S EE
RAZ—DIER 864,000
Z 972,000
WmEEZHEA A R314E4 A 22 H 1R E




A R4 E &R FIT I S IR BB RFER JERE304E11 H 30 H
HH a5y
HI S K4 Be R/ PRBLIFEAA 15 ET
IRA S
F7=D75kMt
(4. HlE4) (T%36) (FFI48)
M M
BHHRERRBRGHEAS BT 1,000,000 A 510,000
EFFACHES BOsEIA 540,000 %z B #E 1,372,162
iR 8 Y T 553,272
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